[image: image1.jpg]H34.

Homeromr i ch 39

B E, 27, 36, 55 audd 7.

# & iﬁﬂcw fas ;nu t an elecron move to have = ki nergy e
/;9-7:' R photon encez of sediom Heht st waveionets 590 1t
Hagpere K= o R
2 i
7% mny = nc
A
| -3k B
R | 2hC _ |24 6838)0 X BXIO
k = (LA BT ST e
Vomi G x5 % 59215 7
) - P . 260 xs0° M/Sz
827 27P. The siopping potertial for clectrons crmitted from 2 surface
b illuminated by light of wavelength 491 om i 0.710 V. When the
7 A incident wavelength is changed 10 2 pew value, the stopping po-
)g tential is 1.43 V. (a) What is this new wavelength? (b) What i:s the
work function for the surface? ssm www
. ) 5, f
- Eistesns @u/fatﬂ ) h - = kmo.y 7 f
kh%x © Me Adures) éz/ /‘7@’5}5}0)‘3”\5 -
i
A <& he
< > A = £
, el F
Ao = ) _T.C E 7:,)5_2 + £ @
Ao
A
e he L e (h-v)



[image: image2.jpg]139 2

»

e (1830717 haus

~3 &
b 830> w220 Tép LoV
g

4

- 5
2.037X10m 4 587200 M’

é
- R-62% x/o/M

" -7
A, = Zegnxie’’m = 38) nm
Fom O F = AL _ ek
Ao
- 34 8
= 6163410 x Ex)0 leV — 5.7 e
$9/400" 7 )bas”?
& - 2532 eV - 0.7} eV

=z /. 8Z e V
Noke o One may  née Br Corwtraiim
! he = 1240 eY. nn«

7o Simplify A Lattutafone
See  Prabkwm B3




[image: image3.jpg]836
pa7¢

(e

{5

(> F

P39.3

2n aluminum targel and are scatiersd in
toosely bound clections there. () What is
fcident gamma rays? (b) What is th

/;”.‘C _ /1
—— =
o ShxineY

hC = /240 cVinm
2

> A = [2BCeVenm o gz n

;,5'1)1(/05/5/}/‘

Iy

243 pm
'"2— :_/"_. -
% - ) DG

me e rgry\

Y , chedatn
Xoozou3 4 283(1- es95) pm :#z%/w

= 486 /:mv

chf’'s he o 1240eVnrr
1220V, nm
A bh§6 x5 pn
E = @,,255/‘421/




[image: image4.jpg]e Neutrons in thermal equilibrium wiz matter have an average

< SR energy of ( T. whe
555 o JXT. where £ is the Boltzmann constant and
e

E¥bich may be taken to be 300 K. is the emperature of the
AvRonment of the neutrons. (a) What erage kinetic cnergy
aeh @ neutron? (b) What is the corresponding de Brogiie wave-

— -5
- Erin = 2 RT = 2080000 el 200k
K

= 3.68x18° oV =388,

[Lj 2 - h E = )V/m/l:c

[ENe 4 Ao loma
-24
- A . _b82xi0
= = o7 Jo I -z
}/ mN Z /,24/,53}/0 X ZEENIO x 1

_ "45?(/0-/0”7 = D45 np .

76E. The uncerainty in the position of an clectron s given a5

1% 50 pm, which is about equal to the radius of 2 hydrogen 2rom.

— What is the least uncenaingy in any simuitancous measuremer of
ch 78 the mormentum of this electron?

Ap . Ax 2 1 AX = 50pm
L eaot \,W\ij—y ™ E %;/W)J\/
H

5
H - Pa) ] _ =
. E AX gﬂ‘ Ax

-1

& a0 oy i
> Ap = TE ke o 20400 K
27;7 S xi1D . —_—





